Subject: Re: bug in latest svn
Posted by mdelfede on Sun, 04 May 2008 15:43:34 GMT
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This one shows that you're right...

long retlong(void)

{static long | = 5;

return |++;

}

const long &test(void)

{return retlong();

}

int main(int argc, const char *argv][])
{

const long &a = test();
const long &b = test();

long aa = a;
long bb = b;
return O;

}

In my test run, both aa and bb get value of 6.

Max

Page 1 of 1 ---- Generated from U++ Forum


https://www.ultimatepp.org/forums/index.php?t=usrinfo&id=472
https://www.ultimatepp.org/forums/index.php?t=rview&th=3418&goto=15685#msg_15685
https://www.ultimatepp.org/forums/index.php?t=post&reply_to=15685
https://www.ultimatepp.org/forums/index.php

